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QUANTITATIVE

DIRECTIONS (Q. 1-5):- Pie diagram given below shows
percentage distribution of shoes sold of a company(X) in first six
months of year 2015. Study the data carefully and answer the
following questions.

Note:

1) Total shoes sold by company ‘X’ in 2015 = 20,000
2) Consider percentage distribution of shoes sold in first six months
remain same for all years.

Sales during first half of the year 2015

may

5%

N\

march

1. If total shoes sold in February is 3300, then find number of shoes
sold in last six months of year 2015?

1. 11000 2. 12250
3. 15500 4. 10600
5. 9000

2. If ratio between shoes sold in first six months to last six months-is
3 : 2, then find shoes sold in April are-how.much more than shoes
sold in January and June together?

1. 1205 2.1250
3. 1200 4.1275
5. 1500

3. In 2016, total number of shoes sold are 10% more than total
shoes sold in 2015. Find shoes sold in Jan 2016 if 50% of total
shoes sold in 2016 is sold in last six months of 2016?

1.1100 2.1170
3. 1200 4. 5500
5.1750

4. If shoes sold in March 2015 were 0.2% of total shoes sold in
2015, then find.total number of shoes sold in last six months of
2015?

1. 10500 2. 8000
3. 12000 4. 14500
5. 9750

5. Shoes sold in April 2015 were 900 more than shoes sold in
February 2015. Total number of shoes sold in last six months of
2015 is what percent of total shoes sold in 2015?

1. 14%% 2.10%

1 1
3. 18;% 4. 115%

1
5.62%

Direction (6-10):- Study the following table carefully to
answer the guestions that follow.
Number of employees in 5 departments of an Organisation in
the given years.

Department | A B C D E
>

Years |

2013 120 | 270 | 190 |.220 | 300
2014 240 <330 | 250 | 350 | 180
2015 340 | 280.| 370 | 290 | 170
2016 420 | 360 | 290 | 310 | 260
2017 320 | 280 | 320 | 260 | 320

6. The difference between the average number of employees in the
department A and department C taking all the given years together
is —

1.4 2.
3.6 4.
5. None of these

7. The respective ratio between the total number of employees in
departments A and B in 2015 and that in departments D and E in
2017is -

1. 29:31
3.31:33

5. None of these
8. In which year was the total number of employees taking all the
departments together was the highest?

1. 2014 2. 2015

3. 2016 4. 2017

5. None of these

9. How many employees served in department D taking all the years

5
7

2.31:29
4. 33:31

together?
1. 2015 2. 1530
3. 1340 4. 1430

5. None of these

10. By what percent increased the number of employees in
department A in 2017 in comparison to that in the year 2013?

1. 166.7% 2. 156.7%

3. 171.3% 4. 172.5%

5. None of these

DIRECTION (Q. 11-15):- Study the following information
carefully and answer the asked questions.

Given table shows the ratio of passed students, failed students
and absent students in final exams of six different schools in
2019.

Note- Total students in any school= passed students +failed
students+ absent students
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Schools | Passed student : Failed 19. Ram has a total of 30000 in notes of denomination 100, 200 and
student : Absent student 500. The number of 200 notes is 3 times the number of 500 notes.
P 4:3:1 The total number of notes is 160. In what ratio are the notes of each
Q 3:5:2 denomination are with him?
— 1.2:6:8 2.6:8:2
R 6:5:2 3.8:6:2 4.2:16:8
S 5:4:1 5.2:6:18
T 7:4:1 20. Five bells commence ringing together and rings at intervals of 3,
u 6:2:1 6, 9, 12 and 15 seconds respectively. In 30 minutes, how many
11.1f total students in school ‘P’ is equal to the total students in times d_o they ring together including the f'rSt_ ring?
school ‘T’ and absent students of school ‘T’ is 32 then, find the 1. 10 t!mes 2.15 t!mes
difference between passed students of school ‘P’ and failed students 3. 11 t!mes 4. 12 times
of school ‘T’? 5. 13 times
1. 64 2. 48 REASONING
3. 36 4, 28
5. 32 L. ) _ .
12. Failed students from sch ol ‘U’ is what percent of the Direction(21 -23): Study .the following information carefully to
failed students from school ‘R’ if absent students from both schools an,swer tl?e glven'qu_e . )
are equal? If 'A + B' means 'A is the father of B
1 60 % ) 663 o If 'A — B' means 'A is the brother of B'
: POP3 70 If'A * B' means'A is the daughter of B'
3. 48% 4. 80 % If 'A x B' means 'Avis the sister of B'
5. 90 % If 'A#B' means 'A is the son of B'

13. If ratio of total students from school Q, Rand Sis3:2:4 and | If'A @ B’ means 'A is the wife of B’
absent students of school Q are 312 then find the average of total” | 21. In equation ‘1 + 5 x 8 @ 3 how is 1 related to 3?

number of students in school Q, R and S together. 1. Uncle 2. Niece
1. 1560 2. 1340 3. Father-in-law 4. Brother
3. 1440 4. 2080 5.'Son-in-law
5. 1040 22. In equation ‘I X2 @ 3 + 4 — 1’ how is 4 related to 1?
14. If passed student from school ‘P is equal to the failed student of | 1. Nephew 2. Husband
school ‘U’, then absent student of school ‘P’ is what percent-of the | 3. Uncle 4. Father
absent student of school “U’? 5. Mother
1. 40% 2. 80% 23. In equation ‘I +J x K # 1> how is 1 related to I?
3. 50% 4. 30% 1. Brother 2. Niece
5. 60% 3. Husband 4.Son
15. Percentage of passed students of school ‘R*is what percent of | 5, Wife
percentage of passed students of schoel ‘S’. Direction(24-25): Read the given information carefully and answer
1.80—% 2,950 given question.
13 13 - .
3. 90l 4. 8720, In a certain number system there are only two notations to represent
13 13 numbers: #, %.
5.92 E% Also, there are certain operators, namely ‘+” and ‘x’.
16. If a/b = 1, c¢/d = 2 and e/f = 1/2. Find the value of df/ce + bf/ae +
bd/ac? Possibl
1. 3/2 2 52 Operator ogZizScif)ns Outcome
3. 712 4. 9/2
5. 1/2 #x# #
17. The altitude of trapezium is 10 cm and the area of the trapezium
is 195 cm®. If the parallel sides are in the ratio of 5 : 8, find the N #x % %
Ifn%h of longer side? . 0o 4 %
3. 29 4. 23 % x % %
5. 24
18. Anupriya rows 1200 m in 900 seconds against the stream and #+# #
while returning he takes 10 minutes. What is the speed of current? X
1. 6m/s 2. 5/3m/s #+% #
3. 39/5mls 4. 9m/s
5. 15m/s
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%+ # #

%+ % %

Based on this coded language, answer the following questions:

24. If A =%; B =#; C = #; D = %; which expression will give the
different value as that of (B + A) x (C + D)?

1L.A+(BxC) 2.[((B+C)xD]xA
3.C+D 4. B+C)xB

5. None of these

25. If P = %; Q = # and R = #, what should be the value of T so that
the value of the expression [(Q + P) x (Tx R)] becomes %?

1.% 2. #

3. Either (1.) or (2.) 4. Cannot be determined

5. None of these

26. Below are given three conclusions followed by five
statements. For each question, mark out an appropriate answer
choice that you think is correct.

Conclusions:

1. Some dolls are tables.

1. Some spoons can be dolls.

111. Some dolls are not large.

Statements:

1. All spoons are tables. No table is doll. Some dolls are
instruments. No instrument is large.

2. All spoons are tables. No table is doll. All dolls are instruments.
No instrument is large.

3. All spoons are tables. No table is doll. No girl is doll: No
instrument is large.

4. All spoons are tables. Some tables are dolls. Some dolls are
instruments. No instrument is large.

5. All spoons are table. No table is doll. Some dolls are instruments.
All instruments are large.
1. Only statement 2

3. Both statement 1 and 4
5. Only statement 5

27. Below are given two conclusions followed by four
statements. For each question, mark out.an appropriate answer
choice that you think is correct.

Conclusions:

I. Some jug being bottle is a possibility.

1. Some glasses being jugisa possibility.

Statements:

1. All bottles are pans. Some jug is.pans. No glass is jug.

2. All bottles are pans. No jug is pan. All glasses are bottles.

3. Some bottles are pans. Some jug is pans. No glass is jug.

4. Some bottles are pans. Some jug is pans. All glass is jug.

1. Only statement 1 2. Only statement 4

3. Both statement 3 and 4 4. Both statement 1 and 4

5. None is follows

Direction(28-32): Study the given information carefully and answer
the questions.

Eight cars Ford, BMW, Skoda, Bentley, Fiat, Ferrari, Nissan and
Audi are arranged according to the prices of car from top to bottom.
The difference of prices of consecutively ranked cars is not more
than 150. BMW car is ranked more than Nissan which is not the

2.Only statement 4
4. Both statement -2 and 3

cheapest. The price of Costliest car is five times that of Ford. The
price of Bentley is $200 more than that of Fiat which is ranked more
than the car which has $450 as its price. Only two cars ranked less
than Ferrari and its price is $100 more than the price of Nissan.
Price of the cheapest car is $150 and is half of the price of the
6" ranked car. The price of Skoda is double theprice of Ferrari.
Audi is ranked second from the top and its price’is $650.

28. What is price of Ford?
1. 450

3.200

5. None of these

29. What is sum of prices of Fiatand BMW?

2.300
4.150

1.1250 2.1000

3.950 4.900

5.1050

30. Which is the costliest car among eight cars?

1. Skoda 2. Audi

3. Bentley 4, Either 1 or 3

5. None of these
31. What is the difference of prices of Nissan and Audi?

1.450 2.550

3. 400 4. 500

5. 350

32. Which of the following is second last ranked car?
1. Ferrari 2. Skoda

3. Fiat 4. Ford

5. Nissan

Directions33: The critical reasoning question is based on a short
argument, a set of statements, or a plan of action. For each question,
select the best answer of the choices given and explain why the
chosen answer is the right fit.

Statements: It is observed that the team of average workers led by
an efficient manager performs better than a team of smart workers
led by an inefficient manager. However, smart workers tend to work
alone than in teams.

Which of the following can certainly be implied from this?

1. Efficient managers can bring out better performance irrespective
of the workers in the team.

2. Inefficient managers cannot work with team of average workers.
3. Smart workers prefer working alone because the managers are
inefficient.

4. Smart workers can perform better when working alone.

5. Average workers can perform better in teams only.

Directions34: The critical reasoning question is based on a short
argument, a set of statements, or a plan of action. For each question,
select the best answer of the choices given and explain why the
chosen answer is the right fit.

Statements: The rise in the availability of public transport facilities
has led to a decrease in the sale of vehicles throughout the country.
Which of the following could be (an) adverse effect/s of this?

1. Greater use of public transport will increase pollution.

2. The automobile industry will suffer a recession.

3. The economic contribution of the automobile industry to the
country will reduce.

4. Both 1 and 2.

5. Both 2 and 3.
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Directions 35. Study the following information and answer the
following question.

Statement: Government is promoting the use of solar energy in
domestic sectors too for reducing the dependency on non-renewable
sources of energy.

Which of the following statements will strengthen the decision
taken by the Government of India?

1. Solar power batteries are highly expensive to purchase in Indian
markets.

2. The price of coal is being reduced by the Indian government.

3. A subsidy is being to villagers who install solar units in their
households.

4. It will generate a lot of e-waste in our society.

5. The government is shutting down thermal power plants.

1.1 2.2
3.3 4.4
5.5

Directions (36-40): Study the following information carefully and
answer the given questions:

A word and number arrangement machine when given an input line
of words and numbers rearranges them following a particular hide
in each step. The following is an illustration of input and
rearrangement. (All the numbers are two digit numbers).

Input: 72 tag hate 12 wish 98 10 flag link dot 54 87 58

Step I: dot 72 tag hate 12 wish 98 flag link 54 87 58 10

Step Il: flag dot 72 tag hate wish 98 link 54 87 58 12 10

Step I11: hate flag dot 72 tag wish 98 link 87 58 54 12 10

Step IV: link hate flag dot tag wish 98 87 72 58 54 12 10

Step V: tag link hate flag dot wish 98 87 72 58 54 12 10

Step VI: wish tag link hate flag dot 98 87 72 58 54 12 10

And Step VI is the last step of the above input, as the desired
arrangement is obtained.

As per the hides followed in the above steps, find out in each of the
following questions the appropriate step for the given input. (All the
numbers are two-digit numbers).

Input: hidden math 23 98 11 ugly and 54 owl 20 67 queen fish 32
36. What is position of “hidden” in step V?

1. Fourth from the right. 2. Third from the right.

3. Twelfth from right. 4. Tenth from right.

5. None of above.

37. Which is the last step after all arrangements?

1.V 2. VIl
3.1X 4. VIl
5.1V

38. What will be position of 98 in third step?

1. Fifthfrom the left 2. Fifth from the right.
3. Seventh from the right. 4. Eighth from left.
5./None of above.

39. Which would be IV step?

1. math hidden fish -and 98 ugly owl 67 queen 54 32 23 20 11
2. queen owl math hidden fish and ugly 98 67 54 32 23 20 11
3. ugly queen owl math hidden fish and 98 67 54 32 23 20 11
4. hidden fish and math 98 ugly 54 owl 67 queen 32 23 20 11
5. owl math hidden fish and 98 ugly queen 67 54 32 23 20 11
40. What is the position of “fish” in last step?

1. Eighth from right 2. Fifth from left

3. Sixth from left 4. Seventh from right

5. None of above

41. Which of the following extends data across networks rather than
store it in one central site?.
1. PIM

3. Distributed database

5. None of these

42. What is a serial port that adds a direct connection to a network?
1. FireWire 2. NIC

3. USB 4. Internal modem

43. What should be used if a company.wants to.include its company
name and logo at the bottom of every page of a brochure?

1. Header 2. Macro

3. Footer 4, Footnote

5. None of these

44, is an event-driven programming language developed in the early
1990.

2. File manager
4. Data mining program

1.C 2.VB

3. C++ 4, Pascal
5. None of these

45, Linuxds a

1. Utility program for peer-to-peer file sharing

2. Real-time operating system

3. Network operating system

4. PDA platform

5. None of these

46. The runs the front-end applications software in a network.
1. Client 2. Database

3. Server 4. CPU

5. None of these

47. Which of the following is used for close a tab on a browser?
1.Ctrl+T 2.Ctrl+W

3.Ctrl + A 4.Ctrl+Y

5. None of these

48. _NORTON" is an

1. Software 2. Anti-Virus Program

3. Network 4. Program

49. A program that converts high level language to machine
Language is

1. Linker 2. Assembler

3. Compiler 4. All of the above

5. None of these
50. Zip is a----- file.
1. Executable File
3. System File

5. None of these

2. Compressed File
4. Combo

ENGLISH

Direction (Q. 51 - 60): Read the passage carefully and answer the
questions given below. Certain words are printed in bold to help
you locate them easily while answering the questions.

The Punjab and Haryana High Court has come to the rescue of
wives estranged from their husbands and seeking legal redress and
maintenance. The HC order will make their divorce proceedings
smoother as it paves the way for providing them financial assistance
in the interim period. And, given our system, this phase usually
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drags on inordinately, resulting in acute agony for the aggrieved
women. Taking note of the harrowing time that the bruised and
battered women — often also saddled with the responsibility of
children and little familial or social support — endure in the quest
for their right, the directive fills a lacuna that has long been taken
undue advantage of.

With family courts having been instructed to insist on an affidavit of
assets, income and expenditure even in ongoing matrimonial dispute
cases, the separated wives have now been spared the cumbersome
and time-consuming task of gathering proof of income and assets of
their spouses, especially of the non-salaried class. Thus, this
provision serves to fast-track the cases and ensure their disposal
within the 60-day timeframe designated for such pleas. Plus, its
rider that concealment of information would invite penal action or
adverse inference against the party is aimed at ensuring appropriate
alimony.

Men commonly tend to suppress their true income or hide wealth to
deliberately defeat their obligation of paying child or spousal
support. While couples in the developed world have moved on to
smoother exits with prenuptial agreements regarding the ownership
of their respective assets, should the marriage fail, we in India are
still largely bound by the ‘sacred’ vows. Walking out of an unhappy
marriage comes with a huge baggage. Even if a woman gathers the
courage to face the social stigma and separate from her husband, the
ensuing backbreaking financial and legal entangles keep her from
seeking divorce. That India has the lowest divorce rate — below
one per cent — in the world does not necessarily illustrate thatall is
hunky-dory. Rather, it points to the need of easing the traumatic
hurdles in the path of freedom from abusive relationships. The
current HC order is a step forward.

51. How will HC order prove to be helpful to estranged wives?

1. It will make the divorce proceedings smoother.

2. 1t will make women endure in the quest for their right.

3. It will deter them get financial assistance.

4. Both (1) and (2)

5. Both (1) and (3)

52. What does continue for excessively long period?

1. Time period of divorce proceedings

2. Rescue of wives estranged from their husbands

3. Responsibility of children

4. Lacuna that has long been taken undue advantage of

5. None of the above

53. How is family courts” insisting on affidavit of assets, income
and expenditure-advantageous?

1. It accelerates the progress of the cases.

2. It helps get rid of the cases within the 60-day timeframe.

3. It paves the way for providing women financial assistance after
the disposal of the case.

4. Both (2) and (3)

5. Both (1).and (2)

54. What does aim at ensuring appropriate alimony?

1. the fact that if a party hides the information regarding assets,
income, and expenditure, it would invite penal action

2. the fact that if a party hides the information regarding assets,
income, and expenditure, it would invite adverse inference

3. the rider that concealment of information would invite penal
action or adverse inference against the party

4. All of the above

5. Any two of the above

55. How does the requirement of an affidavit of assets, income, and
expenditure affects the estranged women negatively?

1. Disposal of cases takes inordinate time.

2. It becomes the reason for acute agony for the aggrieved women.
3. Now they are to do a difficult task of gathering proofs of their
spouses’ income.

4. All of the above

5. None of the above

56. Which among the following is/are false statement(s)?

(A) Usually, men tend to escape the responsibility of paying child
and spousal support.

(B) We should be well pleased about the fact that India has the
lowest divorce rate.

(C) Presently, it’s very easy to withdraw from a nuptial bond.

1. Only (C) 2. Only (B)

3. Only (A) 4. Both (A) and (B)

5. Both (B) and (C)

57. What does inhibit a woman from separating from her husband?
1. low confidence

2. grueling legal proceedings

3. ‘sacred’ vows

4. the rider to the provision of providing an affidavit

5. smooth relationship with hushand

58. Which among the following words can appropriately replace the
word — “respective”?

1. regarded 2. nonplussed
3. individual 4, disorient
5. foxed

59. Which among the following words is/are the synonym(s) of the
word — “obligation”?
1. devoir

3. need

5. Both (2) and (3)
60. Which among the following words is/are the antonym(s) of the
word — “suppress”?
1. disclose

3. oppress

5. All of the above
Direction (Q. 61 - 65): Some sentences are given below. In each
sentence a phrase is given in bold. Below each sentence, four
phrases labeled (1), (2), (3), and (4) are given which can be
replaced with the bold phrase to make the sentence
grammatically correct. If the sentence is already correct; choose
option (5) as the answer.

61. Moscow remain New Delhi’s all-weather friend before as well
as after the collapse of the Soviet Union.

1. Moscow has remained

2. Moscow has been remained

3. Moscow has remaining

4. Moscow has been remaining

5. No change is required

62. The abiding relationship do not imply that India can take its
old ally for granted.

1. abide relationship does not imply

2. abide relationship do not imply

2. duty
4. Both (1) and (2)

2. publicise
4. Both (1) and (2)
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3. abiding relationship does not imply

4. abided relationship do not imply

5. No change is required

63. Russia’s strategic ties with China has gone from strength to
strength in recent years.

1. China has gone strength to strength

2. China have gone from strength to strength

3. China has been going strength to strength

4. China have gone from strength

5. No change is required

64. In the absence of higher dreams, students allow themself to be
manipulated and used by self-indulgent and corrupt political
bosses.

1. nstudents allows themself to be manipulated

2. students allows themselves to manipulate

3. students allows themself to manipulate

4. students allow themselves to be manipulated

5. No change is required

65. Sometimes we feel happy that our children will grow confine to
these walls.

1. will grow confined to these walls

2. would grow confined with these walls

3. will be growing confine to these walls

4. would grow confine with these walls

5. No change is required

Direction (Q. 66 - 70): There are errors in the sentences given
below. Find the part of the sentence which has error and answer
accordingly. The error will be in one part of the sentence. Some
sentences might not have errors. In that case, choose option (5)
as your answer.

66. (a)When a police party raided the spot/ (b)it was found.that he
has/ (c)already used majority of the/ (d)plants'to prepare opium./
(e)No error

la 2.b

3.c 4.

5.e

67. (a)The entire team/ (b)is on a boot.camp/ (¢)prepping/ (d)for the
film./ (€)No error

l.a 2.b

3.c 4.d

5.e

68. (a)This movie_.is/ (b)based on true events and/ (c) bring to life
the story of a true/ (d)patriot, a forgotten hero./ (e)No error

1l.a 2.b
3.c 4.d
5.e

69. (a)Sharma _said that no stone would/ (b)be left unturned to
ensure that/ (c)the polling was hold in a free,/ (d)fair and transparent
manner./ (¢)No error

l.a 2.b

3.c 4.d

5.e

70. (@)If any policeman on duty/ (b)take money or show
carelessness in duty while/ (c)managing traffic, then photographs or
videos of/ (d)the same could be sent on the new Whatsapp number./
(e)No error

l.a 2.b

4.d

71. What is India's rank in World Bank's Ease of Doing Business
Index 2019, out of 190 countries in 2018?

o w
® o

1.71 2.100
3.23 4.63
5.83

72. Name the person who has received. the Pulitzer Prize in music
for his album “Damn.”
1. Hank Williams

3. Duke Ellington

5. Mike Mahara

73. The finance ministry has announced that the sixth tranche of
electoral bonds sale has been started. Which bank is the only
authorised bank to issue such bonds?
1. HDFC

3.BOB

5. None of the above

74. 4 HDFC Bank had announced that the RBI had approved the re-
appointment of Aditya Puri as MD and CEO of the bank. Now, he
will be serving the bank till .

2. Kendrick Lamar
4. Bob Dylan

2. PNB
4. ICICI

1. 2024 2.2019
3. 2022 4. 2021
5. 2020

75. Pedro Sanchez was sworn in as the new Prime Minister of
which country?
1. Argentina

3. Brazil

5. None of these
76. India has signed a $950 million contract with Russia for two

2. Chile
4. Spain

upgraded class stealth frigates.

1. Admiral Gorshkov 2. Admiral Grigorovich
3. Kirov 11 4. Sovetskogo Soyuza
5. Krivak 111

77. Name the personality, who has been appointed as the new

chairperson of British Academy of Film and Television Arts

(BAFTA) for a period of 2 years.

1. Sam Mendes

3. Jane Lush

5. None of these

78. The Central and Andhra Pradesh governments and the
have signed the loan agreement for a $172.20

million project to enhance agricultural productivity, profitability,

and climate resilience of poor and marginalized farmers in Andhra

Pradesh.

1. International Bank for Reconstruction and Development

2. New Development Bank

3. World Bank

4. Asian Development Bank

5. International Monetary Fund

79.The government has announced rupee

award for states that would complete the household electrification

early under the Saubhagaya scheme.

1. 100 crore

3. 150 crore

2. Caro Newling
4. Pippa Harris

2. 10 crore
4, 50 crore
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5. 200 crore

80. The Minister of State for Commerce & Industry C. R.
Chaudhary attended the 6th RCEP Inter-Sessional Ministerial
Meeting (IMM) in Singapore. What does E stand for in RCEP?

1. Equal 2. Environmental

3. Establishment 4. Economic

5. Empowered

81. Which country has launched the world’s first Sovereign Blue
Bond, a financial instrument designed to support sustainable marine
and fisheries projects?

1. India 2. Sri Lanka
3. Seychelles 4. Botswana
5. Kenya

82. Spin legend Shane Warne will release his autobiography titled
that will talk about his extraordinary cricketing

career and his life off the pitch.

1. No Spin

3. Pitch Black

5. Life of 22 Yards

83. Which Bank has launched an overdraft (OD) facility for micro

and small enterprise (MSE) customers across its branches

nationally?

1. India Post Payments Bank

2. State Bank of India

3. Airtel Payments Bank

4. Ujjivan Small Finance Bank

5. City Bank

84. Name the country that has recently unveiled its first domestic

fighter jet named 'KOWSAR".

2. Turning Pitches
4. Life Beyond 22 Yard

1. Iran 2. Bahrain
3. Kuwait 4. The UAE
5. Israel

85. Who is present Secretary, Department of Posts & Chairperson of
Postal Services Board?
1. Meera Handa

3. Usha Chandra Sekhar
5. Udai Krishna

86. is a quick and easy way of transferring
personal remittances from abroad to beneficiaries in.India by India
Post.

1. EMO network

2. International Financial System

3. Money Transfer Service Scheme

4. National Electronic Funds Transfer

5. Society for Worldwide Interbank Financial Telecommunication
87. FICCI is the largest and oldest apex business organization in
India. In'which year FICCI was established?

2/ Ananta Narayan Nanda
4. Achla Bhatnagar

1.41967 2.1957
3. 1947 4.1927
5.1937

88. Igor Akinfeev has retired from international soccer. He was the

captain of football team.

1. Austrian 2. Iranian

3. Russian 4. Brazilian

5. British

89. PACS are outside the purview of the and

hence not regulated by the Reserve Bank of India.

1. The Societies Registration Act, 1860

2. National Bank for Agriculture and Rural Development Act, 1981
3. Securities and Exchange Board of India Act, 1992

4. Reserve Bank of India Act, 1934

5. Banking Regulation Act, 1949

90. are quite simply assets that are valued based on
a currency other than the firm's "home" currency.

1. Foreign currency assets

2. Forex reserve

3. Data Dissemination Standards

4. Foreign Institutional Investor

5. Industrial Finance Corporationof India
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